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 : (1)       . 
  (2)      .    

 – I 
 

     . 
1. (A)  (Helmholtz)   (Cartesian)   .  7 
 (B)          . 7 
 
2. (A)  (Helmholtz)    (spherical polar)   

. 7 
 (B)         . 7 
 
3. (A) d2y

dx2 + ( – x2) y = 0,    ,      . 7 
 (B) x2 d2y

dx2 + dy
dx + (x2 – m2) y = 0         (singularity)  

  .  7 
 
4. (A) d2y

dx2 + 2x dy
dx + 2y = 0       . 7 

 (B)  (Wronskian)      . 7 
 
5. (A)  (Constraints)   ?     . 7 
 (B)    . 7 
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6. (A)                   
. 7 

 (B)            .  7 
 
7. (A)         .      7 
 (B)      7 
 
8. (A)        . 7 
 (B)  (parity operator)         PLz = LzP.  7  
 

 – II 
 

9.   (eight)      8 
 (1)  (Cylindrical)   2   .   
 (2)  (Parabolic)   . 
 (3)  (Parabolic)     (Inverse transformation)   .  
 (4)  (Parabolic)     (Scale factor)   . 
 (5)  (Second)      y1  y2       

   .  
 (6)       . 
 (7)         . 
 (8) x2 d2y

dx2 + xdy
dx +  x2 – 14  y = 0     . 

 (9)    . 
 (10)    . 
 (11) x – y         . 
 (12)    . 
 (13)   P  E . 
 (14) [x, p] = _______   . 
 (15)   (coherent states)   ? 
 (16)    .  

__________ 
  
 
 


